
® 

ESS 
Easy-Solar-System.fr 

 

Easy Solar Box® (ESB) 
 

Weighted support for ground-mounted  
photovoltaic installation. 

Support for framed modules. 

 

 

                   

 

 

 

  
 

http://www.easy-solar-system.fr/


 BENEFITS 

 Compatible with all types of floor 

 Compatible with all sizes of commercially available framed modules 

 Easy installation without floor fixing into the ground or specific masonry 

 Does not require administrative formalities (height < 1.80m) 

 Quick assembly in less than 8 minutes 

  Easy assembly with only 2 tools: 1 x 16 mm flat wrench, 1 x mallet 

 

 
 

 
    TECHNICAL SPECIFICATIONS 

 
 

CONFIGURATION Portrait mode modules 1 or 2 panel(s) 

INCLINATION 35° 

COLOR Metallic grey 

MATERIAL Magnelis® ZM 310 steel  

WEIGHT WITHOUT 
BALLASTING 

31,6 kg 

BALLASTING SYSTEM 180 litres - ballast up to 450 kg 

COMPATIBILITY Compatible with all framed modules on the market 

RAIL DIMENSIONS 2 rails of 240 cm composed of 2 half-rails of 120 cm 

 
 

 
    FIXINGS / BALLASTING 

 

2 fixing modes: 

       PowARsnap (provided with your mount in the hardware bag) 

       Clamps (purchase separately) 
 
 

 

 

 

  



          USER MANUAL 
 

 
Kit contents 

 
Package # 1 : Box 
 

- 2 front/rear plates (42 x 50 cm) 
- 2 side plates (82 x 50 cm) 
- 1 base plate (42 x 80 cm) 
- 1 support plate (28 x 43 cm) (electrical or string inverter  
   box) 
- 2 rail fishplates (45 x 5 cm) 
- 2 35° rail supports (Front support 53 cm / Back 43 cm) 
- 1 bag of accessories: 10 ZM M10 bolts, 10 ZM M10 nuts, 
   2 ZM M8 bolts, 2 ZM M8 nuts, 8 powARsnap 
- Tightening torque of ZM M10 bolts: 27 Nm 

 

 
 
 
Package #° 2 : Rails 

                                                                   - 2 rear corners (60 x 120 cm) 
                                                                   - 4 rails (120 cm) 
 
 
 
 

 

Package # 3 : Connecting fishplates between 
 ESB (optional) 
 

                                                               - 2 rail fishplates (45 x 5 cm) 
                                                               - bag of 4 ZM M10 bolts and 4 ZM M10 nuts 
 

 

 

 

   
 

 

 

 

 



      ASSEMBLY OF THE STRUCTURE 
 

 

 

 

 

 

 

. 

 
 

Take the side plate (no. 1) and the left 
corner (# 2), position them vertically. 

Insert the back plate (#3) into the corner 
of the bracket (#2), carefully aligning the 
corresponding cutouts. 

The whole thing now stands upright 

alone. 

 
 

 
 

 



 

 
 

 

 

 

 
 

Take the side plate (#5). Slide the notches of the back 
plate #3 into the cutouts provided for this purpose on 
the side plate (#5). 

 

 
 

. 

 

 
 

 

 

 
 

. 

 
 

. 



 

 
 

 

 

 

 

 

 
 

 
 

Use a mallet to knock back all visible 
notches on the side plates, front and 

rear, including the chain inverter support 
plate or electrical box, by 90°. 

 
 

Attach the front rail bracket (#10) to the front 
face (#7) using the ZM M10 bolts. 

Tighten firmly using a flat wrench. 
Respect the tightening torque. 

The nut is easily held with one hand, with 
the key on the 

bolt. 

 
 

. 

 
 

. 



 

 
 

 

 

 

 

 

 

 

 

 
 

 
 

. 

 
 

 
 

 

 



 ASSEMBLING THE PANELS 

SOLAR 

Step #15 
Please note that the center distance 
between the PowARsnaps must be 99.5 
cm. 
Stand in front of the support with the 
glass of the panel on the support side. 
Start by placing the PowARsnap clips 
onto the solar panel approximately 30cm 
from the bottom edge of the panel, 
ensuring that the notch in the clip fits 
over the edge of the panel frame. 
Once the panel is equipped with its 
PowARsnaps, turn it from bottom to top 
to put it in place. 

 

 
                      Back side of the solar panel 
 
 
 
 
 

 

99,5 cm 

 

 

 
 

 
 
 

 
  ESS 

    Easy-Solar-System® 

 
Secure the panel by starting by clipping the PowARsnaps onto 
the bottom rail. 
Then lift the top of the panel and clip the PowARsnaps onto the 
top. 
When placing each clip on the rails, make sure you hear the click 
and then check that it is properly engaged. 

 

 

 
 

N
o
ti

c
e
 e

t 
im

a
g
e
s 

n
o
n
 c

o
n
tr

ac
tu

el
le

s 

.fr 

 

mailto:contact@easy-solar-system.fr

